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GROUP – A 

 ( Multiple Choice Type Questions ) 

1. Choose the correct alternatives for the following : 10 ∞ 1 = 10 

i) Which of the following is not a standard RS-232C signal ? 

a) RTS  b) CTS  

c) DSR  d) VDR.           

ii) The network topology that supports bi-directional links between each possible 

node is 

a) ring b) star 

c) tree d) mesh.           

iii) Which of the following ISO level is more closely related to the physical 

communications facilities ? 

a) Application  b) Session 

c) Network d) Data link.            

iv) In Ethernet CSMA/CD, the special bit sequence transmitted by media access 

management for collision handling is called as 

a) preamble b) postamble 

c) jam  d) none of these.           
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v) Baud means 

a) the number of bits transmitted per unit time  

b) the number of bytes transmitted per unit time 

c) the rate at which the signal changes 

d) none of these.             

vi) A modem constellation diagram has data points at ( 0, 1 ) and ( 0, 2 ). What type 

of modulation does the modem use ? 

a) Phase modulation  b) Amplitude modulation 

c) Both (a) and (b) d) None of these.           

vii) Manchester code is 

 a) Bi-polar code b) Non return to zero code 

 c)  Polar code d) None of these.           

viii) Bit stuffing refers to 

a) inserting a '0' in user data stream to differentiate it with a flag 

b) inserting a '0' in flag stream to avoid ambiguity 

c)  appending a nibble to the flag sequence 

d) appending a nibble to the user data stream.           

ix) Which of the following is not a field in the Ethernet message packet ? 

a) Type  b) Data 

c)  Pin-code d) Address.           

x) Baud rate of the signal if the bit rate is 20000 bits per second & 4 bits per signal, 

is  

 a) 20000 b) 5000 

 c)  80000 d) None of these.           
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GROUP – B 

 ( Short Answer Type Questions ) 

  Answer any three of the following.  3 ∞ 5 = 15 

2. What does the CRC generator append to the data unit ?  

3. In what situations does the sender retransmit a packet ?   

4. What is the advantage of QPSK over ASK or PSK ?  

5. Briefly explain asynchronous transmission method.  

6. What is the difference between routing and bridging ?  

GROUP – C 

 ( Long Answer Type Questions ) 

 Answer any three of the following.  3 ∞ 15 = 45 

7. a) What are the differences between unicast, multicast and broadcast addresses ?  

    5 

 b) Explain the goals of layered protocol. 5 

 c) List the names of guided and unguided media. 5 

8. a) Suppose there is heavy traffic on both a CSMA/CD LAN and a token ring LAN. A 

station on which system is more likely to wait longer to send a frame ? Give 

reasons. 6 

 b) How does a token bus LAN operate ? Explain. 6 

 c) What is the smallest size of a token ring data frame ? What is the largest size of a 

Token ring data frame ? 3 

9. a) What is the difference between in-band signaling and out-of-band signaling ? 4 

 b) When a device uses a B channel, how many bits can it send per frame ? 2 

 c) Briefly explain the advantage of ISDN over other types of network. 5 

 d) Define NT1, NT2, TA, TE2 in connection with ISDN. 1 + 1 + 1 + 1 
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10. a) Given a 10 bit sequence 1010011110 and a divisor 1011, find whether there is 

any error in the data unit using CRC method. 7 

 b) What are the three important multiplexing techniques ? Explain in brief. 8 

11. Write short notes on any three of the following : 3 ∞ 5 

 a) Packet switching 

 b) Leaky bucket algorithm 

 c) Network security 

 d) Digital to analog conversion 

 e) Topology. 

    

END 


